

# CITY OF MANITOWOC

WISCONSIN, USA www.manitowoc.org



January 12, 2021

TO: Mayor and Common Council

FROM: Board of Public Works

SUBJECT: Televising Miscellaneous Sewers I

WU-21-5

**Dear Mayor and Common Council:** 

At the January 6, 2021 Board of Public Works meeting, the Board met to receive e-bids for Televising Miscellaneous Sewers I, project WU-21-5. City Clerk reported having received four (4) e-bids. Same were opened and accepted online through Quest, and are as follows:

Bidder	Bid Bond	Base Bid
Northern Pipe, Inc.	Bid Bond	\$46,998.06
Great Lakes TV Seal, Inc.	Bid Bond	\$47,503.71
Green Bay Pipe & TV, LLC	Bid Bond	\$49,420.55
National Power Rodding Corp.	Bid Bond	\$323,269.25

"Moved by Finance Director/Treasurer Steve Corbeille, seconded by Alderperson John Brunner, and unanimously carried to refer the bid to the Director of Public Infrastructure for tabulation and recommendation. Ayes, 7. Nays, none."

Very Truly Yours,

MACKENZIE REED-KADOW Secretary Board of Public Works



Contact Quest

• Logout

The Construction Industry's Premier Bid Management System

Home

• Bid Requirements

Bid Letting

Item Codes

Sonja Birr

## #WU-21-5 TELEVISING MISCELLANEOUS SEWERS I (#7455835)

Owner: Manitowoc WI, City of Solicitor: Manitowoc WI, City of

	Show	Eval	luation	0	ptions
--	------	------	---------	---	--------

Sections shown in this color are not included in the Base Bid Total - *Mandatory* completion Sections shown in this color are not included in the Base Bid Total - *Optional* completion Sections shown in this color are fixed and cannot be edited by the bidder

					Northern Pipe, Inc.		Great Lakes TV Seal, Inc.		Green Bay Pipe & TV, LLC		National Power Rodding Corp	
					ONLINE	Docs	ONLINE	Docs	ONLINE	Docs	ONLINE	Docs
				Accepted		epted	Accepted		Accepted		Accepted	
Line Item	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
Cleaning &	Televising Sanita	ry Sewers							MAY ACCOUNT MAY ARREST TO SEE		,	
1	1	Cleaning 30" Sewer Pipe	LF	6175	\$0.45	\$2,778.75	\$0.52	\$3,211.00	\$0.54	\$3,334.50	\$5.00	\$30,875.00
2	2	Cleaning 27" Sewer Pipe	LF	382	\$0.54	\$206.28	\$0.50	\$191.00	\$0.54	\$206.28	\$2.85	\$1,088.70
3	3	Cleaning 24" Sewer Pipe	LF	2261	\$0.42	\$949.62	\$0.50	\$1,130.50	\$0.54	\$1,220.94	\$2.65	\$5,991.65
4	4	Cleaning 18" Sewer Pipe	LF	304	\$0.42	\$127.68	\$0.44	\$133.76	\$0.54	\$164.16	\$1.00	\$304.00
5	5	Cleaning 12" Sewer Pipe	LF	2467	\$0.38	\$937.46	\$0.40	\$986.80	\$0.41	\$1,011.47	\$0.85	\$2,096.95
6	6	Cleaning 10" Sewer Pipe	LF	2360	\$0.38	\$896.80	\$0.40	\$944.00	\$0.40	\$944.00	\$0.70	\$1,652.00
7	7	Cleaning 8" Sewer Pipe	LF	21234	\$0.38	\$8,068.92	\$0.40	\$8,493.60	\$0.39	\$8,281.26	\$0.50	\$10,617.00
8	8	Heavy Cleaning	LF	2000	\$0.25	\$500.00	\$0.25	\$500.00	\$0.25	\$500.00	\$5.00	\$10,000.00
9	9	Root Cutting	LF	2000	\$0.50	\$1,000.00	\$0.49	\$980.00	\$0.70	\$1,400.00	\$3.00	\$6,000.00
10	10	Televising 30" Sewer Pipe	LF	6175	\$0.34	\$2,099.50	\$0.33	\$2,037.75	\$0.41	\$2,531.75	\$5.00	\$30,875.00
11	11	Televising 27" Sewer Pipe	LF	382	\$0.34	\$129.88	\$0.33	\$126.06	\$0.41	\$156.62	\$3.00	\$1,146.00
12	12	Televising 24" Sewer Pipe	LF	2261	\$0.32	\$723.52	\$0.33	\$746.13	\$0.36	\$813.96	\$2.70	\$6,104.70
•	L		1	Base Bid Total:		\$46,998.06	لـمـــــــــــــــــــــــــــــــــــ	\$47,503.71		\$49,420.55		\$323,269.25

Post Prelim Bid Tabs

Export to CSV

Done

01/06/2021 04:00 PM CST

## **CITY OF MANITOWOC**

## WISCONSIN, USA

www.manitowoc.org



City Clerk

**Subject:** 

Advertise for Bids

**Project:** 

2021 Televising Miscellaneous Sewers I

WU-21-5

Date of Ads: December 16, 2020 & December 30, 2020

Date of Proof of Responsibility:

None

Date Bids are Due:

Wednesday, January 6, 2021

Non-Refundable Fee for Plans & Specs. (Questcdn #7455835):

\$50.00

Remarks:

Press Release to: Daily Reporter, McGraw Hill Construction Dodge, and Bid Ocean.com:

**Approximate Quantities:** 

Clean & Televise 26,000 LF of 8"- 12" Sanitary Sewers Clean & Televise 9,100 LF of 15"- 30" Sanitary Sewers

Clean & Televise 12,500 LF of 10" – 24" Storm Sewers Clean & Televise 9,700 LF of 30" – 48" Storm Sewers Clean & Televise 2,100 LF of 54" - 66" Storm Sewers

Info for Obtaining Wage Rates from State

Wage Rates: None

Estimated Cost of Contract: N/A

Starting Date:

March 2021

Completion Date:

May 2021

Dan Koski, P.E.

Dated: December 11, 2020

**Director of Public Infrastructure** 

FORM #576

Deborah Neuser, CMC, City Clerk CITY HALL · 900 Quay Street · Manitowoc, WI 54220-4543 Phone (920) 686-6950 · Fax (920) 686-6959 · dneuser@manitowoc.org



### **NOTICE TO BIDDERS**

Notice is hereby given that Vbids through Questcdn will be received by the Board of Public Works of the City of Manitowoc, Wisconsin, at the Council Chambers in the City Hall at 4:00 P.M., Wednesday, January 6, 2021, for 2021 Televising Miscellaneous Sewers I, Project #WU-21-5, according to plans and specifications on file at the Department of Public Infrastructure.

Detailed specifications, with form of contract and bond, are available for a non-refundable fee of \$50.00 through Quest (project #7455835). A bid bond or Surety 2000 in the amount of 5% of the bid must accompany each proposal as a guaranty. The right to reject any or all bids or to waive any informality is reserved by the City.

ONLINE ELECTRONIC BIDDING THROUGH QUESTCDN IS THE ONLY WAY THE BID WILL BE ACCEPTED. TO ACCESS THE ELECTRONIC BID FORM, DOWNLOAD THE PROJECT DOCUMENTS AND CLICK THE ONLINE BIDDING BUTTON AT THE TOP OF THE ADVERTISEMENT.

# <u>SPECIFICATIONS ARE AVAILABLE FOR DOWNLOAD AT QUESTCDN.COM OR WWW.MANITOWOC.ORG. (QUEST PROJECT #7455835)</u>

THE CITY OF MANITOWOC IS AN EQUAL OPPORTUNITY EMPLOYER AND DOES NOT DISCRIMINATE ON THE BASIS OF HANDICAPPED STATUS IN ADMISSION OR ACCESS TO, OR TREATMENT OR EMPLOYMENT IN, ITS PROGRAMS AND ACTIVITIES.

Dated this 14th day of December

Published: December 16<sup>th</sup> and December 30<sup>th</sup>, 2020

(Signed) Deborah Neuser, City Clerk

Published by authority of the Common Council of the City of Manitowoc, Wisconsin.

#### #WU-21-5 TELEVISING MISCELLANEOUS SEWERS I (#7455835)

BID DATE: JANUARY 6, 2021

			Northern	Pipe, Inc.	Inc.		Green Bay Pipe & TV, LLC			al Power ng Corp
Item # Item Description	UofM	Qty	Unit Price	Extension		Extension	<b>Unit Price</b>	Extension	<b>Unit Price</b>	Extension
Cleaning & Televising Sanitary Sewer	rs		\$26,594.60		\$27,945.11		\$28,682.72		\$144,159.25	
1 Cleaning 30" Sewer Pipe	LF	6175	\$0.45	\$2,778.75	\$0.52	\$3,211.00	\$0.54	\$3,334.50	\$5.00	\$30,875.00
2 Cleaning 27" Sewer Pipe	LF	382	\$0.54	\$206.28	\$0.50	\$191.00	\$0.54	\$206.28	\$2.85	\$1,088.70
3 Cleaning 24" Sewer Pipe	LF	2261	\$0.42	\$949.62	\$0.50	\$1,130.50	\$0.54	\$1,220.94	\$2.65	\$5,991.65
4 Cleaning 18" Sewer Pipe	LF	304	\$0.42	\$127.68	\$0.44	\$133.76	\$0.54	\$164.16	\$1.00	\$304.00
5 Cleaning 12" Sewer Pipe	LF	2467	\$0.38	\$937.46	\$0.40	\$986.80	\$0.41	\$1,011.47	\$0.85	\$2,096.95
6 Cleaning 10" Sewer Pipe	LF	2360	\$0.38	\$896.80	\$0.40	\$944.00	\$0.40	\$944.00	\$0.70	\$1,652.00
7 Cleaning 8" Sewer Pipe	LF	21234	\$0.38	\$8,068.92	\$0.40	\$8,493.60	\$0.39	\$8,281.26	\$0.50	\$10,617.00
8 Heavy Cleaning	LF	2000	\$0.25	\$500.00	\$0.25	\$500.00	\$0.25	\$500.00	\$5.00	\$10,000.00
9 Root Cutting	LF	2000	\$0.50	\$1,000.00	\$0.49	\$980.00	\$0.70	\$1,400.00	\$3.00	\$6,000.00
10 Televising 30" Sewer Pipe	LF	6175	\$0.34	\$2,099.50	\$0.33	\$2,037.75	\$0.41	\$2,531.75	\$5.00	\$30,875.00
11 Televising 27" Sewer Pipe	LF	382	\$0.34	\$129.88	\$0.33	\$126.06	\$0.41	\$156.62	\$3.00	\$1,146.00
12 Televising 24" Sewer Pipe	LF	2261	\$0.32	\$723.52	\$0.33	\$746.13	\$0.36	\$813.96	\$2.70	\$6,104.70
13 Televising 18" Sewer Pipe	LF	304	\$0.32	\$97.28	\$0.33	\$100.32	\$0.35	\$106.40	\$2.10	\$638.40
14 Televising 12" Sewer Pipe	LF	2467	\$0.31	\$764.77	\$0.33	\$814.11	\$0.34	\$838.78	\$1.85	\$4,563.95
15 Televising 10" Sewer Pipe	LF	2360	\$0.31	\$731.60	\$0.32	\$755.20	\$0.34	\$802.40	\$1.50	\$3,540.00
16 Televising 8" Sewer Pipe	LF	21234	\$0.31	\$6,582.54	\$0.32	\$6,794.88	\$0.30	\$6,370.20	\$1.35	\$28,665.90
Cleaning & Televising Storm Sewers			\$20,403.46		\$19,558.60		\$20,737.83		\$179,110.00	
17 Cleaning 66" Sewer Pipe	LF	747	\$0.43	\$321.21	\$0.40	\$298.80	\$0.43	\$321.21	\$8.50	\$6,349.50
18 Cleaning 60" Sewer Pipe	LF	394	\$0.43	\$169.42	\$0.40	\$157.60	\$0.43	\$169.42	\$7.00	\$2,758.00
19 Cleaning 54" Sewer Pipe	LF	963	\$0.43	\$414.09	\$0.40	\$385.20	\$0.43	\$414.09	\$5.00	\$4,815.00
20 Cleaning 48" Sewer Pipe	LF	117	\$0.43	\$50.31	\$0.40	\$46.80	\$0.43	\$50.31	\$5.00	\$585.00
21 Cleaning 42" Sewer Pipe	LF	3902	\$0.43	\$1,677.86	\$0.40	\$1,560.80	\$0.43	\$1,677.86	\$5.00	\$19,510.00
22 Cleaning 36" Sewer Pipe	LF	3795	\$0.43	\$1,631.85	\$0.40	\$1,518.00	\$0.43	\$1,631.85	\$5.00	\$18,975.00
23 Cleaning 30" Sewer Pipe	LF	1923	\$0.43	\$826.89	\$0.40	\$769.20	\$0.43	\$826.89	\$5.00	\$9,615.00
24 Cleaning 24" Sewer Pipe	LF	2378	\$0.43	\$1,022.54	\$0.40	\$951.20	\$0.43	\$1,022.54	\$2.85	\$6,777.30
25 Cleaning 21" Sewer Pipe	LF	365	\$0.43	\$156.95	\$0.40	\$146.00	\$0.43	\$156.95	\$2.65	\$967.25
26 Cleaning 18" Sewer Pipe	LF	3026	\$0.43	\$1,301.18	\$0.40	\$1,210.40	\$0.42	\$1,270.92	\$1.00	\$3,026.00
27 Cleaning 15" Sewer Pipe	LF	1524	\$0.42	\$640.08	\$0.40	\$609.60	\$0.42	\$640.08	\$0.85	\$1,295.40
28 Cleaning 12" Sewer Pipe	LF	4998	\$0.42	\$2,099.16	\$0.40	\$1,999.20	\$0.41	\$2,049.18	\$0.70	\$3,498.60
29 Cleaning 10" Sewer Pipe	LF	215	\$0.42	\$90.30	\$0.40	\$86.00	\$0.41	\$88.15	\$0.50	\$107.50
30 Heavy Cleaning	LF	2000	\$0.50	\$1,000.00	\$0.25	\$500.00	\$0.50	\$1,000.00	\$5.00	\$10,000.00
31 Root Cutting	LF	1000	\$0.25	\$250.00	\$0.49	\$490.00	\$0.25	\$250.00	\$3.00	\$3,000.00
32 Televising 66" Sewer Pipe	LF	747	\$0.38	\$283.86	\$0.37	\$276.39	\$0.39	\$291.33	\$10.00	\$7,470.00
33 Televising 60" Sewer Pipe	LF	394	\$0.38	\$149.72	\$0.37	\$145.78	\$0.39	\$153.66	\$7.00	\$2,758.00
34 Televising 54" Sewer Pipe	LF	963	\$0.38	\$365.94	\$0.37	\$356.31	\$0.39	\$375.57	\$5.00	\$4,815.00
35 Televising 48" Sewer Pipe	LF	117	\$0.38	\$44.46	\$0.37	\$43.29	\$0.39	\$45.63	\$5.00	\$585.00
36 Televising 42" Sewer Pipe	LF	3902	\$0.38	\$1,482.76	\$0.37	\$1,443.74	\$0.39	\$1,521.78	\$5.00	\$19,510.00
37 Televising 36" Sewer Pipe	LF	3795	\$0.38	\$1,442.10	\$0.36	\$1,366.20	\$0.39	\$1,480.05	\$5.00	\$18,975.00
38 Televising 30" Sewer Pipe	LF	1923	\$0.38	\$730.74	\$0.36	\$692.28	\$0.39	\$749.97	\$5.00	\$9,615.00
39 Televising 24" Sewer Pipe	LF	2378	\$0.34	\$808.52	\$0.36	\$856.08	\$0.38	\$903.64	\$2.65	\$6,301.70
40 Televising 21" Sewer Pipe	LF	365	\$0.34	\$124.10	\$0.37	\$135.05	\$0.38	\$138.70	\$2.30	\$839.50
41 Televising 18" Sewer Pipe	LF	3026	\$0.34	\$1,028.84	\$0.36	\$1,089.36	\$0.37	\$1,119.62	\$2.10	\$6,354.60
42 Televising 15" Sewer Pipe	LF	1524	\$0.34	\$518.16	\$0.36	\$548.64	\$0.37	\$563.88	\$1.85	\$2,819.40
43 Televising 12" Sewer Pipe	LF	4998	\$0.34	\$1,699.32	\$0.36	\$1,799.28	\$0.35	\$1,749.30	\$1.50	\$7,497.00
44 Televising 10" Sewer Pipe	LF	215	\$0.34	\$73.10	\$0.36	\$77.40	\$0.35	\$75.25	\$1.35	\$290.25
BASE BID	\$46,9	CAMP NOW AND ADDRESS.	THE PERSON	03.71	COLUMN TO SERVICE STATE	20.55	Provide Page 1994 (AS)	269.25		

Recommend to Pole 1-19-71